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POLITICAL SCIENCE
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

Who, among the following is the author of “The Laws’ ?
(A) Aristotle (B) Plato (C) St. Augustine (D) Dicey

Whose name is associated with the concept ‘Relative Autonomy of State” ?
(A) Lenin (B) Stalin (C) Gramsci (D) Mao

Who, among the following, had introduced ‘Christian Humanitarian Values’ in an
otherwise hedonistic philosophy ?

(A) Bentham (B) James Mill (C) John Stuart Mill (D) Spencer

Which one of the following statements is correct ?

(A) ‘Comparative Politics” as a sub-discipline of Political Science had emerged due to
some gaps in ‘Comparative Government’.

(B) ‘Comparative Politics” was born in the United States because of the emphasis the
American scholars had placed on a scientific study of politics in the last century.

(C) ‘Comparative Politics’ was born of Behavioural movement in Political Science.

(D) ‘Comparative Politics” was born in the fifties of the last century.

Which one of the following statements is correct ?

(A) The British Constitutional tradition requires separation of membership between
Parliament and Cabinet.

(B) The West Minister model of government insists on informal status of the cabinet.

(C) The British Cabinet as a collective body is responsible for formulating the policy
to be placed before the Parliament and is also the supreme controlling and directing
body of the entire executive branch.

(D) The Cabinet Minister in Britain need not be a member of the legislature.

Which one of the following statements is correct ?
(A) In Political Socialisation there is need to observe degree of political participation
(B) Non-Political experiences do not contribute to the Political Socialisation

(C) Political Socialisation is the establishment and development of attitudes to and
beliefs about the Political System.

(D) Political Socialisation ignores the links between authoritarian family structure
and values.
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10.

11.

12.

13.

14.

15.

Political parties are registered as per the provision of :
(A) Article 324 of the Constitution
B) The Election Commission

C) The Election Commission in consultation with the Government
D) Representation of People’s Act 1951

(
(
(
Which one of the following is the partner in the UPA Government ?
(A) AIADMK (B) Asom Gana Parishad
(C) INLD (D) DMK

Which one of the following State Assemblies has six years term ?
(A) Punjab (B) Jammu and Kashmir
(C) Himachal Pradesh (D) Kerala

Who called Hierarchy the ‘scalar process’ ?
(A) Mooney and Reiley (B) Felix A. Nigro
(C) Henri Fayol (D) L.D. White

Which one of the following theories focusses on what is called informal organization ?
(A) Systems Theory (B) Bureaucratic Theory
(C) Classical Theory (D) Human Relations Theory

Who among the following argues that public administration is different from private
administration ?

(A) Paul H. Appleby (B) Henri Fayol
(C) L. Urwick (D) Mary P. Follett

Who said the following ?

“The world must be made safe for democracy. We have no selfish ends to serve ........
we are but one of the champions of the right of mankind”.

(A) Mahatma Gandhi (B) Henry Kissinger
(C) Morgenthau (D) Woodrow Wilson

With the end of cold war, and the disintegration of the erstwhile Soviet Union, we are
in:

(A) Bipolar World (B) Multipolar World Order
(C) Unipolar System (D) Anarchy

“Human nature was at the base of International Relations. And humans were
Self-interested and power -seeking ....” Who said this ?

(A) Woodrow Wilson (B) Evans and Newham
(C) Hans J.Morgenthau (D) Kenneth Waltz
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11.

12.

13.

14.

15.
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Directions :

16.

17.

18.

19.

20.

21.

22.

23.

Each of the following ten items consist of two statements, one labelled as

Assertion (A) and the other labelled as Reason (R). You are to examine
these two statements carefully and decide if the Assertion (A) and the
Reason (R) are individually true and if so, whether Reason (R) is the correct
explanation of Assertion (A). Select your answers to these items using the
codes given below :

SoZ>

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

Assertion (A) :

Reason (R) :

D —-0207

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) is true but (R) is false

(A) is false but (R) is true

For Sri Aurobindo history is spiritually determined.
Culture and Civilization both act and interact in history.

According to Kautilya four wings of the army - elephants, cavalry,
chariots and infantry - should be placed under different officers.

The officers do not fall prey to the enemy’s intrigues.

There is no society today which can claim a single uniform political
culture.

Patterns of cultural change differ from country to country.

States and the State system are basic and permanent features of the
modern Political life.

The State system and Modernity are not closely related historically.

Exaggerated emphasis on bureaucratic and technocratic structures
of management has done a great deal of harm to democratic polity in
India.

Initiative from below has become the main victim.

Politicisation of criminals is more dangerous than criminalisation of
politics.
Political parties have lost governing capacities.

Control over public administration is shifting from legislature to
executive.

Parliament does not have sufficient time for detailed examination and
scrutiny of governmental activities.

The government imparts various types of training to its employees.

Training enhances the efficiency of the employees by improving their
work skills.



16.

17.

18.

19.

20.

21.

22.

23.
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24. Assertion (A) : The underdeveloped countries suffer from the profound inequalities
in contemporary world.

Reason (R) : International system should address issues of security, freedom and
progress.

25. Assertion (A) : The central issue in International Politics is the inability of our present
global political system to adequately meet the problems created by
globalization.

Reason (R) : Westphalia system has failed to satisfy the long term conditions for
sustainability.

26. Identify the correct chronological order in which the following were published :
(i) Leviathan
(i) Modern Political Analysis
(iii) A Theory of Justice

(iv) The calculus of Consent

Codes :
(A) (@), @v), (i), (i) ®B) (@), (), (iv), (iii)
Q) (@), (i), (i), (iv) (D) (@), @v), (i), (iii)

27. Identify the correct chronological order in which the following concepts/theories were
born :

(i) ‘General Will’
(i) “Authority as Federal’
(iii) ‘Satyagraha’

(iv) ‘Gram Swaraj’

Codes :
(A) (@), (i), @v), (i) ®B) (@), (), (i), (iv)
Q) (@), @v), (i), (iii) (D) (@), (), (iv), (iii)

28. Identify the correct chronological order in which the following approaches emerged :
(i)  Philosophical Approach
(i) Behavioural Approach
(iii) Marxist Approach
(iv) Systems Approach

Codes :
(A) (i), (i), (iv), (i) ®B) (@), (@), (i), (i)
(©) (@), (i), (iv), (iii) (D) (@), (i), (i), (iv)
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24, HAA (A) : ATHGT I THFAH fova H WHY SFaAHared ¥ I €
RIUT (R) : ST YU ! TR&T, STSIEH AR WG § S &I W &AM o1 =feu |

25. AT (A) : AP TSI H THE T § fava Temfaen e o avaienor § 3o Foesii
1 HHIYM T Rl ST&IHAT |

T (R) : Sthell Feee Srefehiferh ST (susceptibility) T HqfE s # 3T9%d g8 ¢ |

26. fr=fafEd Tl & JRM i Hicishd § T8l |

(i) [SEIEIRE] (Leviathan)

(i) WIS Uifctehal THARHE (Modern Political Analysis)

(iii) U foradt &iw SReH (A Theory of Justice)

(iv) fg oo™ 31 HAde (The Calculus of Consent)

HIS :

A) @) @), G, G B O (@) @), (i)
© O () @ ) O @) (v), () (i)

27. frefafaa fagr o deheaisll s Scft o ¥el hieishd e |
i)y S fael (General Will)

ii)  STURE TS e (Authority as Federal)

iii) HANIE (Satyagrah)

(iv) UM WS (Gram Swaraj)

HIS :

(
(
(
28. Tr=fafad SunTHi o1 9@ Feshd Teeny |

A) (i), @), (@), @) B) (@v), @), (i), (i)
Q) (@), (@) (v) (i) (D) (@), @), @), @)
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29.

30.

31.

32.

Identify the correct chronological order in which the following books were published :
(i)  Political Man

(ii) The Power Elite

(i) Theory and Practice of Modern Governments

(iv) Comparative Politics : A Developmental Approach

Codes :
(A) (@), @v), (i), (iii) (B)  (v), (), (iid), (i)
(C) (i), (i), (i), (iv) (D) (i), (iv), (i), (iii)

Identify the correct chronological order in which the following events occurred :
(i)  Unseating of Indira Gandhi according to Allahabad High Court verdict
(ii)  First split in the Congress after Independence.

(iii) “Garibi Hatao” slogan used by congress in Parliamentary Elections.

(iv) First Non-Congress Government at the centre

Codes :
(A) (i), (v), (i), (i) (B)  (iv), (i), (iii), (i)
(©) (), (i), (i), (iv) (D) (i), (iv), (i), (iii)

Identify the correct chronological order of the following landmark judgements by the
Supreme Court :

(i) Minerva Mills Case

(i) Golak Nath Case

(iii) A.K. Gopalan Case

(iv) Ninth Schedule of the Constitution Case

Codes :
(A) (), (i), (i), (i) (B) (i), (iv), (1), (i)
(C) (i), (@), (i), (iv) (D) (i), (i), (i), (iv)

Consider the following landmarks in the emergence and growth of New Public
Administration :

(i) Honey Report

(i) Philadelphia Conference

(iii) Publication of “Towards a New Public Administration”
(iv) Minnowbrook Conference

What is the correct sequence of the above ? Select the correct answer from the codes
given below :

Codes :
(A) (), (i) (iv) and (iii) (B) (i), (ii), (iii)) and (iv)
(C) (i), (iv), (iii) and (i) (D) (i), (i) (iii) and (iv)

D —-0207 10



29.

30.

31.

32.

TreAfafad gkl % YRR 1 HTctshd Tg=T |

(i) Political Man

(i) The Power Elite

(i) Theory and Practice of Modern Governments

(iv) Comparative Politics : A Developmental Approach

HIS

(A) @) @v), @), (i) B) (@), (i) (i), (i)
(©) (@), (), @1, (@) (D) (@), @v), (@), (i)
T Teet o SRl HIshA Sl TeT

() SRS B8 HIE & el % STTER 3Feq el 1 Hee He T |
(i)  SATSIST o o1 HiH § fauH |

(ili) HEE A H TS g AN

(iv) % o Ugel R-FITH THR H T

HIS

(A) (D), @v), @), @) (B) (v), (i), (i), (@)
(©) @) @), @) (@) (D) (@), @v), @), (i)

(
(i)  TIeTeRATY hd

(iti) k. T HE

(iv) wfae &t i Ty deiet B

HIS :
(A)  (v), (), (@), () (B) (), (v), (1), (i)
(© @), @), 3G, @) (D) (i), @), @, @)

T Ik Y9G % 3T IR Gafg | f=1 fafdy feigeti w faam #ifsm)

(i) Honey Report

(i) Philadelphia Conference

(iii) Publication of “Towards a New Public Administration

(iv) Minnowbrook Conference

TIRT TR SThE F © 2 T el B 9wl S gie

g

(A) (i), (1), (iv) SR (i) B) (i), (i), (i) 3R (iv)
Q) (i), (v), (i) 3R () (D) (i), (i), (i) 3R (iv)
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33.

34.

35.

36.

What is the correct sequence in which the following theories/approaches appeared ?
(i) Human Relations Theory

(i) Max Weber’s Bureaucratic Theory

(iii) New Public Management

(iv) Decision-making Theory

Select the correct answer from the codes given below :

Codes :
(A) (i), (i) (iv) and (iii) (B) (i), (ii), (iii) and (iv)
(C) (i), (iii), (iv) and (i) (D) (i), (iii) (ii) and (iv)

Identify the correct chronological sequence of the following :

(i) Dismemberment of Soviet Union

(i) NAM

(i) NATO

(iv) Indian Ocean Rim

Codes :

(A) (i), (), ), (i) B) (), (i), ), (i)
(© (), @v), (i), (i) (D) (i), (i), (@), (iv)

Identify the correct chronological order of the following events :
(i) Camp David

(i) My-lai Massacre

(iii) Iraq’s invasion of Kuwait

(iv) G-8 summit in St. Petersburg

Codes :

(A) (i), (iv), (i), @) (B) (i), (iif), (iv), (i)

(©) (), (@), (i), (iv) (D) (1), (i), (iv), (i)

Match List - I with List - IT and select the correct answer from the codes given below :
List - 1 List - I1

(a) Plato (i)  Private and Public Morality

(b) Machiavelli (i) Savitri

(c) Hegel (iii) Time-Spirit

(d) Aurobindo (iv) Philosopher King

Codes :
(@ ) (o (@)

(A) (@v) (@) (@) ()

B) @ @) (@v) (i)

© @ @ @) (@v)

(D) @) @@ @ (@dv)
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33.

34.

35.

36.

=1 Tl Smm ot & H 2

() fegm dermst faga

(i) T JeR 1 FrepmE fag

(iii) g UfscTeh HAeTHe

(iv) fedism afd fagr

= fcﬁ T HE IR g

g

(A) @), @), @(v) (i) ®) @) (@) (@) W
(© () (i), @Gv) M () D) (@) (i), @) W

frefafad & 9t sk s 9=
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(A) (), (v), @), (i) (B) (v), (i), (), (i)
© @) (v) (i) (@) (D) (), @), @, @)
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() &9 Sfae

(i) WE-AE SHEER

(iii) TP TR Fod W gHA

(iv) He dietsea | G-8 1 e’ w e

g

(A) (i), (iv), @), () (B) (i), (i), (iv), ()
© (@), @) (i) (iv) (D) (i), (i), (iv), (i)

1= fSU gT i &1 T Hd L Fet-1 1 geir-11 § fiae i
-1 ~11

=

N—

~

= S

N—

—~~ ~
——

B o
~

BN

¢ N

-
~ -

o~~~ o~
N DR N
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37. Match List - I with List - II and select the correct answer from the codes given below :

List - 1 List - 11
(@) ‘The gate-keepers’ (i) Deutsch
(b) ‘Better to be a Socrates dissatisfied (ii) Jaya Prakash Narayan
than a pig satisfied’
(c) ‘Total revolution’ (iii) David Easton
(d) Encoding and decoding (iv) J.S. Mill
Codes :
(@ b @© @
@) O @ @) @
B ) @) @
© ) @) @) 0
D) O @ @) (i)
38. Which one of the following pairs is not correctly matched ?
(A) Pareto : Circulation of elites
(B) Political Socialisation : Process of induction into the political culture
(C©) Lucian Pye : Structural differentiation
(D) Organski : Political decay
39. Which one of the following pairs is not correctly matched ?
(A) Robert Michels : Iron Law of Oligarchy
(B) Huntington : Modernisation- a multifaceted process
(C) Karl Deutsch : Receptors
(D) Almond : Elitist theory of democracy
40. Match List - I with List - II and select the correct answer from the codes given below :
List - 1 List - 11
(a) Communal Award (i) 1996
(b) ] P’s Bihar Movement (i) 1982
(c) Giani Zail Singh’s accession to Presidency  (iii) 1932
(d) Vajpayee’s first Prime Ministership (iv) 1974
Codes :
(@ b © @
A) O @ @) ()
B ) @ @) 0
© ) @) @
D) (v @) @) 0
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37.

38.

39.

40.

1= fST 3T i &1 T o L Fet-1 1 geir-11 § fiae i

-1 geit-11

(@) & e-=husi () TE=
(b) HIE YR H STHIE YhId 3751 ¢ | (i)  STAYRTET AR
(c) Hqul shifd (i) efoe $HeA
() TAHIFET IR Senifen (iv) S.um. faa
BT :

(@ B (© @
(A) (@) (i) (iv) (i)
(B) (i) (iv) @) @)
© (@) (@) @) @
D) @ @) @v) (i)
frAfafed gt # forgen faem 3t 72 &2
(A) & —  HfYSH & Hoed Wi
(B) USHId®h FUSHHO  — TSI &hid | SINTHA Ufshan
(C) Tfaa e — s faude
(D) eidieent — ook &4
=1 9 forg S o1 e @t =1 &2
(A) T o —  Eoudd w1 e e
B) @fre —  SYFEIEH-TE SeE whh
(C) rel g —  Receptors
(D) TS — Ity faem iR s
1= fSU BT ISl &1 TN Fd g Feit-1 1 Geir-11 § fream wifse

-1 geit-11

(a) WIGRIIR TS G 1996
(b) SLH. 1 foRR sTiceH (i) 1982
() I St fHe 1 Tgafd s (i) 1932
(d) STSTYETSI 1 T SR YU Hil oA (iv) 1974
HIE :

(@ B (©© @
(A) (@) @) (v) (i)
(B) (i) @@ @) @
© () @v) @@ @
(D) (v) @) @) @
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41. Match List - I with List - IT and select the correct answer from the codes given below :

List - 1

(a) Rajni Kothari

(b) Lloyd and Susanne Rudolph

(c) Jawahar Lal Nehru

(d) Mahatma Gandhi

Codes :

(d)
(iv)
(i)
()

(i)

(i)
(ii)

List - 11

In pursuit of Lakshmi : The political
economy of the Indian State

Discovery of India

An Autobiography : The story of My
Experiment with Truth

State against democracy : In search of
Humane Governance

42. Match List - I with List - II and select the correct answer from the codes given below :

List - 1
(a) Span of control

(b)  Scalar Process

(c) Hereditary authority

(d) Fourteen principles of organisation

Codes :

(@ B (o
(A @O @@ @)
B @@ @ @)
(©  (v) (D) (i)
(D) @ @) ()

(d)
(i)
(i)
(@)

(iv)

16

List - 11
(i) J.D. Mooney
(i) V.A. Graicunas
(iii) Henri Fayol

(iv) Max Weber



41. = fSU g Il o1 TR A g Get-1 & gei-11 § fiam &

geit-1 geit-11
(a) TSI FIEH (i)  In pursuit of Lakshmi : The political
economy of the Indian State
(b) TS AR S Teieh (i) Discovery of India
() STETEEd TBE (iii) An Autobiography : The story of My
Experiment with Truth
(d) TRTCHT TTedt (iv) State against democracy : In search of
Human Governance
HIS :
(@ (b) () @
(A) @) @@ G (1)
B) Gv) @ @) (i)
(© @) (@v) @) @
(D) @) (@) (@v) (i)

42, = fSU U HE 1 FAN ek Ger-1 1 Ger-11 § fHam S

-1 TqEi-11
(a) O fogfd (Span of control) G SEL
(b) U WM (Scalar Process) i) ST AFTE
(c) STaifeI T (Hereditary authority) (iii) ST wE

(d) HTed % dice fE (Fourteen principles (iv) Hed R

of organisation)

8#3‘:

(@ B (© @
(A) @ @) @v) (i)
B) @) @@ @v) (i)
Q) (v) () @) ()
D) @ @) @@ (@0
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43.

44.

45.

Match List - I with List - IT and select the correct answer from the codes given below :

List - 11

Administrative system as a sub system
of social system

Agraria-industria

Legal rational authority

Analysis of human behaviour

Match List - I with List - IT and select the correct answer from the codes given below :

List - 1
(a) Bureaucratic (1)
(b) Behavioural (ii)
(c) General system (iii)
(d) Ecological (iv)
Codes :
(@ ) (© (@)
(A) i) (v @ 0
B (v @) 0
© @) (v O )
D) () O v (i)
List - 1
(a)  Architect of India’s Foreign Policy
(b) Russia
(c) Panchsheel
(d INA
Codes
(@ ) (© (@)
(A) Gv) (@) @ (D)
(B) @@ @ (@v) (i)
(©) (@v) @) @@ @
(D) (@) @) (@) @

List - II
(i) S.C. Bose
(i) China
(iii) Putin
(iv) Jawahar Lal Nehru

Match List - I with List - II and select the correct answer from the codes given below :

List - 1

(a) Bull, H. (
(b) Kaplan, M. (
() Fukuyam, F. @
(d) Karl Marx @
Codes

(@ ) ((© (@
(A) @ (@v) @ @G
(B) @ (v) @) (D)
(© @) @) (@) @)
(D) Gv) (@) @) @)

D —-0207 18

List - II
i)  Revolutionary System
ii) The End of History
iii) Systems Theory
iv) Evolutionary System



43.

44.

45.

D —-0207 19

= fu B¢ ISl =1 941 Hd gL -1 1 geit-11 § e i

-1 Het-11
(a) IR dF/ ARl (i)  TTEeh HET WIS SHewe i
Teh ST
(b) BRI (i) T TS I eMeRa
(c) T HeE (ili) STLT TS Mfeheh STEERT0T
(d) HAEERE (iv) A W i fereersor
HIE :
(@ B (© @
(A) (i) (v) @) (@)
(B) (v) (i) @) (i)
Q) (i) (iv) (@) (i)
(D) @@ @) (@v) (i)
1= fou gU Il &1 TR hd g geit-1 & gei-11 § fiae i
eli-1 eli-11
(a) 9Rd = fagw ifa =1 Fafa (i) GI™ == 9|
(b) w9 i) =M
(c) d=rRftd (iii) gfa=
d) TSR feg wist (iv) STETeR AT ee
BT :
(@ B (© @
(A) (v) @) @ (i)
(B) (@) (@) (v) (i)
© (v) @) @@ @
(D) (@) @@ @) @
1= fSU BT ISl &1 TN Fd g Feit-1 1 Geir-11 § fream wifse
eli-1 ei-11
(a) 9o, T (i)  shifdeRRl gomert
(b) HUH, T (i) sfoem =1 3fq
(€ B%IH Th (iii) womeft fasT
(d) el T (iv) fam =t gomef
BT :
(@ B (© @
(A) @@ @) @ (i)
B) @) (@v) @) (i)
© (@) @@ @) @O
(D) (v) (i) @) @)

P.T.O.



Read the passage below, and answer the questions on the basis of your understanding

of the passage :

It is this impatience with the inability of the ‘critical’ theorists to provide an
alternative model of society, as distinct from suggesting an alternative method of analysis
of the present one, which is in part at the root of the criticisms which have been levelled
against the ‘critical” philosophers and political theorists in the course of the second half
of the 1970’s, but another reason for this (often strident) criticisms is the increasing
feeling of ‘inauthenticity” - or “hypocrisy’ - which seems to surround the “critical’
approach. For instance, Rousseau felt disgusted by Voltaire’s double standard, which
led Voltaire to become the protege of the King of Prussia and yet to continue to be
engaged in virulent attacks on absolutist regimes. The so-called ‘new philosophers’
who emerged in the 1970’s in France in particular, have increasingly felt that the rarefied,
hypersophisticated and complex critiques of Western Capitalist society under the banner
of neo-Marxism acted as a huge smokescreen to cover-up the even more unacceptable
modes of behaviour of Eastern totalitarian communist governments, the aim of the
‘new’ philosophers is to “unmask’, once more, but in the name of commonsense, because,
to borrow the title of one of the works written in this vein, ‘Barbary” has now ‘a human
face’. (B.H. Levy, 1977)

Much of the “critique of the critics’ has an emotional base, but much of the critical
analysis itself - and that of Marx to begin with - had or has an emotional base - namely
that capitalism was unacceptable because of the sufferings it was imposing on human
beings and that it is still imposing, in the eyes of the neo-Marxists, on the human race.
The anti-Marxist critics also start from the emotional stand point that, under the cover
of Marxism, a totalitarian lead casket is imposed already on part of mankind and is
gradually being imposed on an increasingly larger part. Thus the new critics of Marxism
write in the same vein as and emulate some of the older political theorists. The
contemporary world is in many ways as Hobbesian as the state of nature described by
the seventeenth century English writer; the excesses of dictatorship have to be stigmatized
and alternatives have to be elaborated and presented to mankind as, otherwise the
dominance of the ruthless will be assured. Political theory started from a disgust with
the state of things as they were as well as out of a desire to understand what was going
on. Blueprints presented by Plato, Hobbes, Locke and Rousseau were means of getting
out of the human predicament; political theory must continue to fulfil this function

because if it does not, mankind will once more, fall into a barbaric state.
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et sqeee &1 Ulgy 3iiT 39a ITET UT QU T 991 &7 377 1T -

e (critical) Tagrenfesi st ATt & dehfedeh ‘Higd' (TEY) T&d Exeical
STEHLA o W 78 STERT St A J&Y (Afed) & foreeton t Jenfoas faft § fim 8, s
3TifeTeh &9 & AHIEENRT (critical) STRIFTERT T 1970 % W & SIS, o AsHIdh FHGIHRI
% fovg ST ot TE ¥ S SToRR e ¥ 1 iR TR GHY HRYT STYHITOGRAT T UEve o
ST Fedt wrad1 off § S FHteeTeh SUFH (critical approach) ® STgd T T |

SR EH Aledr=R % X "IIgve ¥ figw o g SR 38§ & TSl H1 T a1
Tl iR f ot g FRFamEE! e T T SATeTd Xl @11 qerehRid 76 SRife st 1970
% T H Uehe TU FoRi &9 ¥ i H, ST I8 3TIHa hd ) b Tammeiare! fagm=i =
314 forefiona stfaufisha iR aftend 9ot =it Sifea wHien 3 9ol JAd & ThasamR! s
Wﬁ%mwaﬁm%mw(smokescreen)mwm%l REENIEE
%1 T T IR $7eh! Uil GITHT § ifeh WM 91 o 99 W 36 ast | fa@ T sfive 9§
IR T T gEA T A A w6

‘foreien 3Tt forfeara’ o STfuehisn W T Wk WTaMTeTe TIHR §, STk HHtefees fagersmm
3 A9 H, fSrgent yeetd TRt | Bl T SHET MIEHTS STHR o 3R o1l ¥1 Serewoned
SIS STEelehTd ol SHehT ShRUl I8 1 Toh 6 TaHTeRIaNTeal & STIHR A W & Y &M
& TR S1eft off oty @ ¥ | HIoRdaTe foRieht eveiEe ot e g 9 SIRY i € fb
TTHRIATE & STER § HHESIT % Teh R 6l Uk Gaaaem; 9 8 gt fean 7 € iR o
T & 9 9T 1 38T T 2Tel off @l 2|

3Tq: TIHIATE o 3Tcirash 361 qst W forad § 3R G Teifaen gl o1 ST
Fd B 1 3T 1 fava 2 o1eff | wred Wt oA gl S © e 39 SN w3 St
vaest B U fRA o1 AR % STITER Sl shalfohd fohal ST =IfET, 3R 39 fasheq
forhfra ferw ST =nfeq den HFesTTd =l YeM fhT ST =fen &bl Y (AMRE) o e
fafemm ®1

Temfaeh TagT 1 71 39 953 i @& feafaai o ufa faxfaa o sror qen a8 S !
91 9§ g7l T, & 9 W1 ¥ 39 HHa g W Al Fiehem bt T wiel, 8isd, ek 31X
T oA gk & | eIt g 1 39 yehrd i frafha g s wifeu Hife SR g T 7
UM @ AT TR T STeree | el S |
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46.

47.

48.

49.

50.

The author is primarily concerned with the criticism of :
(A) Critical Theorists (B) Traditional Theorists

(C) Western Philosophers (D) Gaps in a few Political Theories

The author finds fault with Voltaire because of :

(A) his attacks on democracy

(B) his criticism of Prussian regime

(C) his criticism of absolutism and support to absolutist Prussian state system
(D) his ideas on human freedom

The ‘new philosophers” use the expression ‘smokescreen’ for :

(A) Analysing the views of the socialists

(B) Exposing the dictatorial regimes

(C) Supporting the western capitalist society

(D) Camouflaging the unacceptable behaviour of Eastern totalitarian regimes

The contemporary world, according to the author, is :

(A) basically democratic

(B)  full of sufferings of the people
(C) largely totalitarian

(D) full of human rights violations

The basic objective of political theory, according to the author is :

(A) to steer clear of all the cover-ups

(B) to criticize capitalist society

(C) to expose totalitarian regimes

(D) to help human beings in their predicament

-00o0-
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46.

47.

48.

49.

50.

TEF T Y T I ST ¥ T

(A) GHtes fagraard (B) URUR fagraamt

(C) ufeert gl (D) TsHfaeh fagmi & sta & fifgaar
TG Aee T Y kel § Hifh

A) IS T 3HH AT % BRI

B) 3Heh! YR % USIAS i STl o R0

(
(B)
(C) TSI FEHTETE i A=A ae GREH ToF Saed o gfd aqeH
(D) HFE FdaAdl & Yfd 36k foe=m

TSR TSR (W wR) % e e ¥

(A) GHSETCEl % forami o fareetson o faw)

(B) TMIRIE! YMEehI i A @iet o fog |

(C) U=t Ysfraret =rareen & qHelq & for |

(D) Y& & TREAEmE e G5l % HIER Fl Tk o faTd |

TREE % ITTEAR GHHTCIA fova 7

T fag &1 I 39 § ¢
A) Y HeE | 9 @A

B) YSiemel HHIS St Sl S |
C) YalfHsRl T4 & 9t @ierT |

(
(
(
(D) WS o kI e TRIfT H Hem=a T

)
D)

-00o0-
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Space For Rough Work



